Subject: Re: Arrays of Structures
Posted by news.qwest.net on Thu, 08 Feb 2007 19:09:58 GMT

View Forum Message <> Reply to Message

"Mick Brooks" <mick.brooks@gmail.com> wrote in message
news:1170957886.387622.208430@153g2000cwa.googlegroups.com.. .

> ... but this is where you lose me. Doesn't the the first line that you
> showed say that structs.a is an array of 50 ints?

Not exactly. The key point is that structs.a is an EXPRESSION.
Also, "struct" is an array of structures.

You cannot do

IDL> EXPRESSION(10)

, Yyou must first cast the expression
IDL> (EXPRESSION)[10]

It is not an operator precedence thing.

Cheers,
bob
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